
  

  

 

 

,yq;if fzf;fPl;L njhopEl;gtpayhsh;fs; fofk; 
 

 

kl;lk III guPl;ir – [dtup 2021 

 
gupe;Jiuf;fg;gl;l tpilfSk 

(302) Kfhik fzf;fPLk;; epjpapaYk; (MAF) 

 

,yq;if fz f;f Pl ;Lj ; njho py ;El;gt pa hs u;fs ; fofk ; 
,y > 640> ntd ;. KWj ;njl ;Lntd Mde ;j ehf pk p khtj ;i j >  

   ehNu`d ;g pl ;b > nfhOk ;G - 05 
njh.Ng - 011 2 559 669 

 

 

 
 
 
 
 
 
 

fy;tp kw;Wk; gapw;rp gpuptpd; ntspaPL 



 

[Type text] 1      (302) Kfhik fzf;fPLk;; epjpapaYk; 
  
302/MAF 
 

 
 

 

   
 
 

ehd;F (04) fl;lha tpdhf;fs; 
(nkhj;jk; 20 Gs;spfs;) 

 

tpdh 01 ,w;fhd gupe;Jiuf;fg;gl;l tpilfs; :  
mj;jpahak; 01 – Kfhik fzf;fPl;Lf;fhd mwpKfk;, ,lu; kw;Wk; epr;rakw;w epiyapyhd 
jPu;khdk; Nkw;nfhs;sy; kw;Wk; njhlu;Ggl;l fpuak; 

(a) 
epjpapay; fzf;fPL Kfhikf; fzf;fPL 

xU rl;luPjpahd Njit rl;luPjpahd Njit my;y 
cs; kw;Wk; ntsp fl;rpfSf;F epjp 
mwpf;iffis toq;Fjy; 

Nkyhz;ik mwpf;iffs; cs; fl;rpfSf;F 
kl;LNk toq;fg;gLfpd;wd 

fz;fhzpg;G mbg;gilapy; mstplf;$ba 
guptu;j;jidfs; kw;Wk; epfo;Tfs; kl;LNk 
gad;gLj;jg;gLfpd;wd 

fz;fhzpg;G my;yhj jfty;fSk; 
KbntLg;gjw;F nghUj;jkhdit vd;W 
fUjg;gLfpd;wd 

,Wjp epjp mwpf;iffis RUf;f tbtpy; 
toq;fTk; 

tpupthd tbtj;jpy; gadu;fSf;F jfty;fis 
toq;fTk; 

Ke;ija epjpf; fhyj;jpy; kl;LNk 
guptu;j;jidfs; epfo;e;jd vd;gijf; 
ftdpAq;fs; 

vjpu;fhy eltbf;iffisj; jpl;lkpLtJ Fwpj;J 
$Ljy; ftdk; nrYj;jg;gLfpwJ 

       (02 Gs;spfs;) 
(b)  

i)  

rkg;ghl;Lg; Gs;sp 
(BEP) 

= 
epiyahd fpuak; 

xU myfpd; 
gq;fspg;G 

   
BEP (myFfs;) = 

94,720     

130-98 

 
= 94,720 

32 

BEP = 2,960 

ii)     nkhj;j gq;fspg;G (32*3,800)            =         121,600 
        epiyahd fpuak;                                =         (94,720) 
        vjpu;ghu;f;fg;gLk; ,yhgk;                  =           26,880 

   (03 Gs;spfs;) 
 (nkhj;jk; 05 Gs;spfs;)) 

 

gFjp - A 

 

,yq;if fzf;fPl;L njhopEl;gtpayhsh;fs; fofk; 

kl;lk;  III guPl;ir – [dtup 2021 

(302) Kfhik fzf;fPLk;; epjpapaYk; 

gupe;Jiuf;fg;gl;l tpilfs; 

 



 

[Type text] 2      (302) Kfhik fzf;fPLk;; epjpapaYk; 
  
302/MAF 
 

tpdh 02 w;fhd gupe;Jiuf;fg;gl;l tpilfs; :  
mj;jpahak; 07 – njhopw;ghl;L %yjd Kfhikj;Jtk; 

 (a) 
  Fwpg;G 2019/20 (ehl;fs;) 
,Ug;G Row;rp (tjp) fhyk; 01 71 
tpahghu tUkjp Row;rp; fhyk; 

 
53 

(-) tpahghu nrd;kjp Ntz;ba 
FbapUg;G fhyk; 02 (64) 
njhopw;ghL %yjd Row;rpapd; fhyk; 

 
60 

 
Fwpg;G 01 –  

    tpahghuf; fpuak; =         6,022,500*80%    =           4,818,000  
   

 

 

    
,Ug;G tjpTf;fhyk;  

= ruhrup ,Ug;G   x 365 ehl;fs; 

 tpahghuf; fpuak;  
  

   
 

= (944,800+925,200)/2   x 365 ehl;fs; 
 

  
4,818,000 

  
  

   

 

= 935,000   x 365 ehl;fs; 
 

  

4,818,000 
  

     

 

= 71 ehl;fs; 
   

Fwpg;G 02 –  tpahghu tUkjp Row;rp; fhyk; 
  

   nfhs;tsT =      4,818,000 + 944,800 - 925,200    = 4,837,600 

 

tpahghu nrd;kjp tjpTf;fhyk; 
= ruhrup nrd;kjp x 365 ehl;fs; 

 
 nfhs;tdT  

  
   

 

= (891,700+813,300)/2  x 365 ehl;fs; 
 

  

4,837,600 
  

     

 

= 852,500  x 365 ehl;fs; 
 

  

4,837,600 
  

     

 

= 64 ehl;fs; 
  (05 Gs;spfs;) 

 
 

,Ug;G Row;rp fhyk; 



 

[Type text] 3      (302) Kfhik fzf;fPLk;; epjpapaYk; 
  
302/MAF 
 

tpdh 03 w;fhd gupe;Jiuf;fg;gl;l tpilfs; :  
mj;jpahak; 03 - NtWgl;l tifahd ghjPLfs; kw;Wk; jpl;lkply; kw;Wk; fl;Lg;gLj;jy; vjpu; 
ghjPly; 

 (a) 

Rs.000 ghjPL 
 

nefpo;T 
ghjPL 

cz;ikahdJ Kuz; 

msT 11,000  5,800 5,800 - 
tpw;gid 7,150 7,150/11,000*5,800 3,770 4,200 430F 
khWk; fpuak;      

nghUs; fpuak; (3,256) 3,256/11,000*5,800 (1,716.80) (2,368) 651.20A 
Copa fpuak; (1,745) 1,745/11,000*5,800 (920) (910) 10F 
cw;gj;jp Nke;jiy (913) 913/11,000*5,800 (481.40) (364) 117.40F 
nkhj;j khWk; fpuak; (5,914)  (3,118.20) (3,642) 523.80A 
gq;fspg;G 1,236  651.80 558 93.80A 
epiyahd cw;gj;jp 
fpuak; 

(268)  (268) (168) 100F 

epiyahd tpepNahf 
nryT fpuak; 

(283)  (283) (283) - 

nkhj;j epiyahd 
fpuak; 

(551)  (551) (451) 100F 

,yhgk; 685  100.80 107 6.20F 

(05 Gs;spfs;) 

tpdh 04 ,w;fhd gupe;Jiuf;fg;gl;l tpilfs; :  
mj;jpahak; 01 – Kfhik fzf;fPl;Lf;fhd mwpKfk;, ,lu; kw;Wk; epr;rakw;w    
epiyapyhd jPu;khdk; Nkw;nfhs;sy; kw;Wk; njhlu;Ggl;l fpuak; 

 

tpw;gid 
 

(48,000 * Rs.400) 
 

19,200,000 

     MNyhrfu; fl;lzk; epfo;e;j fpuak; 
 Neu; nghUs; fpuak; 

 
(48,000 * Rs.210) 10,080,000 

 Copak; 
    cw;gj;jp 

nra;ag;gl;lhy; (48,000*Rs.180) 8,640,000 
  ntsp 

Kyhkplg;gl;lhy; 
 

8,475,000 165,000 
 

  

  

  Vida khWk; fpuak; 
 

(48,000 * Rs.45) 2,160,000 
 

     re;ju;g;g nryT 
  

1,250,000 (13,655,000) 

     mjpfupj;j ,yhgk; 
   

5,545,000 
Fwpg;G: jw;NghJs;s epjp ed;ikia jpahfk; nra;tjw;Fk;> ntspNaWk; Copau;fSld; Gjpa 
fl;lisia Vw;Wf;nfhs;tjw;Fk; gupe;Jiuf;fg;gLfpwJ  

(05 Gs;spfs;) 
 

 
 

gpupT A KbT 



 

[Type text] 4      (302) Kfhik fzf;fPLk;; epjpapaYk; 
  
302/MAF 
 

%d;W (03) fl;lha tpdhf;fs;  
(30 Gs;spfs;) 

 

tpdh 05 w;fhd gupe;Jiuf;fg;gl;l tpilfs; :  
 (a) 

mj;jpahak; 03 - NtWgl;l tifahd ghjPLfs; kw;Wk; jpl;lkply; kw;Wk; fl;Lg;gLj;jy; vjpu; 
ghjPly; 

 

 

Vg;uy;-21 Nk-21 A+d;-21 

ngWtdTfs; 
   fhR tpw;gid (W1) 240,000 360,000 400,000 

fld; tpw;gid (W1) 1,368,000 864,000 1,296,000 

nkhj;j tuTfs; 1,608,000 1,224,000 1,696,000 

    nfhLg;gdTfs; 

   nghUSf;fhd Kw;fl;lzk; (W2) 270,000 300,000 315,000 

nghUSf;fhd kpFjpgzk; (W2) 540,000 810,000 900,000 
nghjp kw;Wk; tpepNahfk; (W3) 252,000 266,000 168,000 
gzpahsu;fs; rk;gsk; kw;Wk; 
Cf;fj;njhif (W4) 165,600 165,600 165,600 

kpd;rhuk;> ePu; kw;Wk; njhiyNgrp (W5) 18,000 12,000 18,000 
thlif 150,000 - - 
nkhj;j nfhLg;gdTfs; 1,395,600 1,553,600 1,566,600 

    

epfu fhRg;gha;r;ry; 212,400 (329,600) 129,400 

kp / nfh / nr 180,000 392,400 62,800 

kp / nfh / t 392,400 62,800 192,200 

 
nra;iffs; 
fhR tpw;gid kw;Wk; thbf;ifahsu;fsplkpUe;J ngw;wit  
(W1) 

 
ngg;-21 khu;r;-21 Vg;uy;-21 Nk-21 A+d;-21 

tpw;gid 1,800,000 1,900,000 1,200,000 1,800,000 2,000,000 

fhR tpw;gid @ jpdrup 20% 360,000 380,000 240,000 360,000 400,000 

kpFjp njhif 1,440,000 1,520,000 960,000 1,440,000 1,600,000 
kpFjp njhif (js;Sgbapd; 
gpd;) 90% 

 
1,296,000 1,368,000 864,000 1,296,000 

 
W2 - nghUSf;fhd fl;lzk 

 
ngg;-21 khu;r;-21 Vg;uy;-21 Nk-21 A+d;-21 

%yg;nghUs; 1,080,000 1,140,000 720,000 1,080,000 1,200,000 

Kw;gzk; @ 25% 285,000 180,000 270,000 300,000 315,000 

kpFjp @75% 810,000 855,000 540,000 810,000 900,000 
 

gpupT - B 



 

[Type text] 5      (302) Kfhik fzf;fPLk;; epjpapaYk; 
  
302/MAF 
 

W3 - nghjp kw;Wk; tpepNahfk; 

 
ngg;-21 khu;r;-21 Vg;uy;-21 Nk-21 A+d;-21 

nghjp kw;Wk; tpepNahf fpuak; 252,000 266,000 168,000 252,000 280,000 

60 ehl;fspy; nfhLg;gdT 
  

252,000 266,000 168,000 

 
W4 - gzpahsu;fs; rk;gsk; kw;Wk; Cf;fj;njhif 

 ngg;-21 khu;r;-21 Vg;uy;-21 Nk-21 A+d;-21 

rk;gsf; fpuak; 144,000 144,000 144,000 144,000 144,000 

Cf;fj;njhif @ 15% 21,600 21,600 21,600 21,600 21,600 

nkhj;j nfhLg;gdT 165,600 165,600 165,600 165,600 165,600 

 
W5 - kpd;rhuk;> ePu; kw;Wk; njhiyNgrp 

 
ngg;-21 khu;r;-21 Vg;uy;-21 Nk-21 A+d;-21 

fpuak; 18,000 18,000 12,000 18,000 18,000 
tUfpd;w khjj;jpy; nra;ag;gl;l 
nfhLg;gdT 

 
18,000 18,000 12,000 18,000 

 
(10 Gs;spfs;) 

tpdh 06 w;fhd gupe;Jiuf;fg;gl;l tpilfs; :  
mj;jpahak; 01 – Kfhik fzf;fPl;Lf;fhd mwpKfk;, ,lu; kw;Wk; epr;rakw;w   
epiyapyhd jPu;khdk; Nkw;nfhs;sy; kw;Wk; njhlu;Ggl;l fpuak; 

(a)  tiuaiwf; fhuzp/fhuzpfis 

jpwikahd $yp – juk; A 
 

$W 
Nfs;tp 

(myFfs;) 
jpwikahd $yp 
– juk; A (kzp) 

nkhj;j Njitg;ghL 
(kzp) 

SX1 1,000 2.00 2,000 

  

(1,100/550) 
 SX2 1,500 2.50 3,750 

  

(1,375/550) 
 SX3 800 3.00 2,400 

  

(1,650/550) 
 jpwikahd $yp – juk; A Njitg;ghL 

  

8,150 

jpwikahd $yp – juk; A fpilg;gdT 
  

8,300 

jpwikahd $yp – juk; A kpif 
  

(150) 

 
 
 
 
 
 
 



 

[Type text] 6      (302) Kfhik fzf;fPLk;; epjpapaYk; 
  
302/MAF 
 

jpwikahd $yp – juk; B 
 

$W 
Nfs;tp 

(myFfs;) 
jpwikahd $yp 
– juk; B (kzp) 

nkhj;j Njitg;ghL 
(kzp) 

SX1 1,000 4.00 4,000 

  

(1,680/420) 
 SX2 1,500 3.00 4,500 

  

(1,260/420) 
 SX3 800 3.50 2,800 

  

(1,470/420) 
 jpwikahd $yp – juk; B Njitg;ghL 

  

11,300 

jpwikahd $yp – juk; B fpilg;gdT 
  

11,000 

jpwikahd $yp – juk; B Fiw 
  

300 

 
 
jpwikaw;w $yp – juk; B 

 
$W 

Nfs;tp 
(myFfs;) 

jpwikaw;w $yp 
(kzp) Nfs;tp (myFfs;) 

SX1 1,000 6.00 6,000 

  

(1,080/180) 
 SX2 1,500 5.50 8,250 

  

(990/180) 
 SX3 800 4.00 3,200 

  

(720/180) 
 jpwikaw;w $yp –Njitg;ghL 

  

17,450 

jpwikaw;w $yp –fpilg;gdT 
  

20,000 

jpwikaw;w $yp –kpif 
  

(2,550) 

 
tiuaiwf; fhuzp  jpwikaw;w $yp 

(05 Gs;spfs;) 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 



 

[Type text] 7      (302) Kfhik fzf;fPLk;; epjpapaYk; 
  
302/MAF 
 

(b)tiuaWf;fg;gl;l tsk; / tsq;fspd; mbg;gilapy; cj;jk cw;gj;jpf;; fyit 
 

 

SX1 SX2 SX3 

tpw;gid  12,400 14,000 12,900 

(-) khWk; fpuak; 
   %yg;nghUs; 2,800 3,400 3,100 

jpwikahd $yp – juk; A 1,100 1,375 1,650 

jpwikahd $yp – juk; B 1,680 1,260 1,470 

jpwikaw;w $yp 1,080 990 720 

khWk; Nke;jiy 2,000 2,000 1,880 

nkhj;j khWk; fpuak; (8,660) (9,025) (8,820) 

gq;fspg;G 3,740 4,975 4,080 

jpwikahd $yp – juk; B 4 3 3.50 

jpwikahd $yp – juk; B gq;fspg;G 935 1,658 1,165.7 

epiy 3 1 2 
 
nghUl; fyit 

$W 
cw;gj;jp 

(myFfs;) 
jpwikahd $yp – 

juk; B (kzp) 
nkhj;j Njitg;ghL 

(kzp) 

SX2 1,500 3.00 4,500 

SX3 800 3.50 2,800 

SX1 925 4.00 3,700 

   

11,000 

 
(05 Gs;spfs;) 

 (nkhj;jk; 10 Gs;spfs;) 

tpdh 07 w;fhd gupe;Jiuf;fg;gl;l tpilfs; :  
mj;jpahak; 05 - %yjd %yq;fs; kw;Wk; %yjdf; fpuak; 

 
a) rhjhuz gq;Ffspd; fpuak;: 

 
 Ke = d0  (1+g) 

 
 

      + g 
 

   

P0  
 

      

 

Ke = 1.2 (1+0.08) + 0.08 
 

   

18 
 

 

      

 

Ke = 15.2% 
  (02 Gs;spfs;) 

 

 



 

[Type text] 8      (302) Kfhik fzf;fPLk;; epjpapaYk; 
  
302/MAF 
 

b) kPl;fg;gl Kbahj Kd;Dupikg; gq;Ffspd; fpuak;: 
 

 
Kp = d0  

   

P0  

     

 

Kp = 1.5 x 100 

   

12 
 

     

 

Kp = 12.5% 
 (02 Gs;spfs;) 

 
 
c) kPl;fg;glf;$ba jdpr;rq;fspd; fpuak;: 
 

 
Kd = k (1-t) 

    

 

tl;b = 12 (1-0) 

    

 

tl;b = 12% 

 
Mz;L fhRg;gha;r;ry; DF @ 12% DCF DF @ 15% DCF 

0 95.00 1.000 95.00 1.000 95.00 

1-3 (12.00) 2.402 (28.824) 2.283 (27.40) 

3 (100.00) 0.712 (71.2) 0.658  (65.80) 

  

NPV (5.024) 
 

1.80 

 

    
 

 
   

IRR = 12% + 
5.024 

x (15%-12%) 
1.80 - (5.024) 

 
   

     

 

= 0.12 + 0.7362 x 0.03 

  

 
      

  

 

= 14.21% 

      (03 Gs;spfs;) 

 
 
 
 
 
 

 



 

[Type text] 9      (302) Kfhik fzf;fPLk;; epjpapaYk; 
  
302/MAF 
 

d) re;ijg; ngWkjpiag; ghtpj;J %yjdj;jpd; epiwNaw;wpa ruhrupf; fpuak; 
 

tpguk; 

re;ijg; 
ngWkjp 
&.000 

epiwNaw;w
k; % 

COC COC (Rs.) 

rhjhuz gq;Ffs; (40Mn * 18) 720 57% 15.20 8.664 

Kd;Dupikg; gq;Ffs; (6Mn * 
12) 72 

5.69% 
12.5 0.712 

jdpr;rq;fs; (5Mn * 95) 475 37.31% 14.21 5.302 

 
1,267  

 
14.678 

 

WACC     =      14.678% 
 

(03 Gs;spfs;) 
(nkhj;jk; 10 Gs;spfs;) 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
  
 

gpupT B KbT 
 



 

[Type text] 10      (302) Kfhik fzf;fPLk;; epjpapaYk; 
  
302/MAF 
 

%d;W (03) fl;lha tpdhf;fs;  
(50 Gs;spfs;) 
 

 

tpdh 08 w;fhd gupe;Jiuf;fg;gl;l tpilfs; :  
mj;jpahak; 04 – epakf; fpuak; kw;Wk; Kuz; gFg;gha;T 

(a) 
Neu; 
%yg;nghUs; 
tpiy Kuz; 

= (epak gad;ghL - 
cz;ik 

gad;ghL) x epak tpiy 

123,760 F 
= (38,080 - 

cz;ik 
gad;ghL) 

x 65 

 
= 38,080- (123,760/65) 

   cz;ik 
gad;ghL = 36,176Kg    

 
 
 

nra;Kiw: 
epak gad;ghL    =    4,760 x 8 kg = 38,080 kg 

 

(02 Gs;spfs;) 
 

(b)  
(i)  

Neu;f;$yp 
fyit Kuz;= 

Neub ciog;gpd; epiyahd tPjk; * [(nkhj;j 
cz;ikahd njhopyhsu; gad;ghL * epak fyit) - 
(nkhj;j cz;ikahd njhopyhsu; gad;ghL * 
cz;ikahd fyit)] 

  

jpwikahd $yp 380* [((1,130+4,950)kzp*0.25/1.25)- ((1,130+4950) kzp* 

1,130/(1,130+4,950)] 
 

32,680 rhjfk; 

jpwikaw;w $yp 200* [((1,130+4,950) kzp *1/1.25)-((1,130+4,950) kzp * 

4,950/(1,130+4950)] 

17,200 ghjfk; 

nkhj;jk;  15,480 rhjfk; 

(04 Gs;spfs;) 
 
(ii) 

Neu; $yp tpisT 
(cw;gj;jp jpwd); 
Kuz;= 

Neub ciog;gpd; epiyahd tPjk; * [(nkhj;j epak 
njhopyhsu; gad;ghL * epak fyit) - (nkhj;j 
cz;ikahd njhopyhsu; gad;ghL * epak fyit)] 

  

jpwikahd $yp 380* [((0.25+1)) kzp *4,760 myFfs;* 0.25/1.25)- 

((1,130+4,950) kzp *0.25/1.25)] 

9,880 ghjfk; 

jpwikaw;w $yp 200* [((0.25+1) kzp *4,760 myFfs;*1/1.25)-

((1,130+4,950) kzp *1/1.25)] 

20,800 ghjfk; 

nkhj;jk;  30,680 ghjfk; 

(04 Gs;spfs;) 

 
 
 

gpupT - C 
 



 

[Type text] 11      (302) Kfhik fzf;fPLk;; epjpapaYk; 
  
302/MAF 
 

(c) njhopw;ghl;L $w;W 

  ghjfk; rhjfk; epfu; 
ghjpl;l gq;fspg;G 5,000*410/-   2,050,000 
tpw;gid vy;iy fdtsT Kuz;  98,400   

ghjpl;l gq;fspg;G – cz;ikahd 
tpw;gid 

    

tpw;gid tpiy Kuz;  190,400   

Neu; nghUs; tpiy Kuz;  361,760   

Neu; nghUs; ghtid Kuz  
 

123,760  
Neu; $yp fyit Kuz;   87,700  
Neu; $yp fyit Kuz;   15,480  

Neu; $yp tpisT (cw;gj;jpwd); Kuz;  30,680   

khWk; Nke;jiy nrytpd Kuz;  12,160   

khWk; Nke;jiy tpidj;jpwd; Kuz;  18,200   

nkhj;j khWk; fpuak;  711,600 226,940 (484,660) 
cz;ikahd gq;fspg;G    1,565,340 

(05 Gs;spfs;) 
(nkhj;jk; 15 Gs;spfs;) 

 
tpdh 09 w;fhd gupe;Jiuf;fg;gl;l tpilfs; :  
mj;jpahak; 06 - %yjd KjyPLfs; kjpg;gPL 

 (a) 
(Rs.’000) 

 0 1 2 3 4 5 
KjyPL (120,000)      
tpw;gid  100,000 100,000 108,000 112,000 76,000 
Neu; 
%yg;nghUs; 

 (27,000) (27,000) (29,160) (30,240) (20,520) 

Neu; $yp  (16,000) (16,000) (17,280) (17,920) (12,160) 
khWk; 
Nke;jiy 

 (5,000) (5,000) (5,400) (5,600) (3,800) 

epiyahd 
fpuak; 

 (6,000) (6,000) (6,000) (6,000) (6,000) 

 (120,000) 46,000 46,000 50,160 52,240 33,520 
tup  (4,480) (4,480) (5,644.80) (6,277.20) (9,385.60) 

 (120,000) 41,520 41,520 44,515.20 46,012.80 24,134.40 

DCF@15% 1 0.869 0.756 0.657 0.572 0.497 
epfu ,w;iw  
ngWkjp 

(120,000) 36,081 31,389 29,246 26,319 11,995 

NPV = 15,030 

 

 
 



 

[Type text] 12      (302) Kfhik fzf;fPLk;; epjpapaYk; 
  
302/MAF 
 

nra;Kiw: tup 
 1 2 3 4 5 

,yhgk; (epiyahd fpua – 
gq;fspg;G) 

46,000 46,000 50,160 52,240 33,520 

%yjdf; nfhLg;gdT (30,000) (30,000) (30,000) (30,000) - 

 16,000 16,000 20,160 22,240 33,520 

tup@ 28% 4,480 4,480 5,644.80 6,227.20 9,385.60 

 (13 Gs;spfs;) 
 

 

(b)  
& .15>030>000 / - ,d; Neu;kiwahd NPV I cUthf;Ftjhy; kUj;Jt gupNrhjid ,ae;jpuj;ij 
thq;f gupe;Jiuf;fg;gLfpwJ  

 
(02 Gs;spfs;) 

 (nkhj;j 15 Gs;spfs;) 
 

tpdh 10 w;fhd gupe;Jiuf;fg;gl;l tpilfs; :  
 (A) 

mj;jpahak; 02 – nra;Kiwf; fputpay;  
 

                                                  nra;Kiw 1 fzf;F                                                     Rs. 

tpguk; myF ngWkjp tpguk; myF ngWkjp 

Neu; 
%yg;nghUs; 10,400 1,310,920 

Kw;wile;j 
nghUshf 
khw;wg;gl;lJ 7,620 1,813,560 

Neu;f;$yp - 742,560 
rhjhuz 
,og;G 520 36,400 

Nke;jiy - 283,960 
mrhjhuz 
,og;G 460 109,480 

  
  

eilKiw 
Ntiy 
kP/nfh/nr 1,800 378,000 

  10,400 2,337,440   10,400 2,337,440 
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W1- rk myF kw;Wk; fpuaf;$w;W 

 

nkhj;j 
msT  
  Kgs 

Neu; %yg;nghUs; X Gjpa %yg;nghUs; Neu;f;$yp & Nke;jiy 

KOika
hf 

g+u;j;jpah
dJ rk myF 

KOika
hf 

g+u;j;jpah
dJ 

rk 
myF 

KOika
hf 

g+u;j;jpah
dJ rk myF 

Muk;g ,Ug;G - 
      ntspaPL 7,620 100% 7,620 100% 7,620 100% 7,620 

rhjhuz 
,og;G – 
cs;sPl;bd; 
5%  520 

 
- 

 
- 

  mrhjhuz 
,og;G 460 100% 460 100% 460 100% 460 
,Wjp 
eilKiw 
Ntiy 1,800 100% 1,800 80% 1,440 60% 1,080 
nkhj;j 
cs;sPL 10,400 

 
9,880 

 
9,520 

 
9,160 

 
W2 – myF fpuaj;jpd; fzpg;gPL 

 

Neu; 
%yg;nghUs; Neu;f;$yp Nke;jiy nkhj;jk; 

cs;sPl;bd; fpuak; 1,310,920 742,560 283,960 2,337,440 

tpw;gid nra;ag;gl;lJ &.70/- (36,400) - - (36,400) 

cs;sPl;bd; epfu fpuak; 1,274,520 742,560 283,960 2,301,040 

vjpu;ghu;f;fg;gLk; rk myFfs; 9,880 9,520 9,160 
 cw;gj;jp nra;ag;gl;;l myfpd; 

fpuak; 129 78 31 238 
 

W3 – kjpg;gPl;Lf; $w;W 

 

Neu; %yg;nghUs; Neu;f;$yp Nke;jiy 

nkhj;j  
njhif 

rk 
myF 

my
Ff;fp
uak; nkhj;jk; rk myF 

my
Ff;
fpu
ak; 

nkhj;
jk; 

rk 
myF 

myF
f;fpua

k; 
nkh
j;jk; 

ntspaPL 7,620 129 982,980 7,620 78 
594,3

60 7,620 31 
236,2

20 1,813,560 
mrhjhu
z 
,og;G 460 129 59,340 460 78 

35,88
0 460 31 

14,26
0 109,480 

,Wjp 
eilKi
w Ntiy 1,800 129 232,200 1,440 78 

112,3
20 1,080 31 

33,48
0 378,000 

   

1,274,52
0 

  

742,5
60 

  

283,9
60 2,301,040 

 

(13 Gs;spfs;) 
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(B) 

mj;jpahak; 01 – Kfhik fzf;fPl;Lf;fhd mwpKfk;, ,lu; kw;Wk; epr;rakw;w epiyapyhd 
jPu;khdk; Nkw;nfhs;sy; kw;Wk; njhlu;Ggl;l fpuak; 

                                                                                                                                             Rs. 
 
 

cau; 1,200   x 0.3   x (400-195) =  73,800 
 

   
  

 

     
 

eLj;ju   800    x  0.4   x (400-240) =  51,200 
 

   
  

 

Fiw 400    x 0.3 (400-240) =  19,200 

 

                             v. ,yhgk;   144,200 
 

     

                                         njhlq;fhky; 
   

  
 

,J &.144>200/ - ,yhgj;ij <l;Ltjhy;> gj;jpupifiaj; njhlq;fyhk;.  
(07 Gs;spfs;) 

(nkhj;jk; 20 Gs;spfs;) 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

A 

B 

0.4 

gpupT C KbT 
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Notice:  
These answers complied and issued by the Education and Training Division of AAT Sri Lanka constitute 
part and parcel of study material for AAT students.  
These should be understood as Suggested Answers to question set at AAT Examinations and should not 
be construed as the “Only” answers, or, for that matter even as “Model Answers”. The fundamental 
objective of this publication is to add completeness to its series of study texts, designs especially for the 
benefit of those students who are engaged in self-studies. These are intended to assist them with the 
exploration of the relevant subject matter and further enhance their understanding as well as stay 

relevant in the art of answering questions at examination level.  
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